# Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica 

## Jana Larmerová; Jiří Rachůnek <br> Translations of distributive and modular ordered sets

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 27 (1988), No. 1, 13--23

Persistent URL: http://dml.cz/dmlcz/120190

## Terms of use:

© Palacký University Olomouc, Faculty of Science, 1988

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# acta universitatis palackianae olomucensis FACULTAS RERUM NATURALIUM <br> 1988 

Katedra algebry a geometrie přírodovědecké fakulty Univerzity Palackého v Olomouci
Vedouci katedry: Doc.RNDr. Jiří Rachůnek, CSc.

# TRANSLATIONS OF DISTRIBUTIVE AND MODULAR ORDERED SETS 

JANA LARMEROVA, JIŘf RACHONEK

(Received March 16, 1987)

In this paper there are introduced the netions of distributive and modular sets which generalize the corresponding notions from the lattice theory. It is shown that both notions are autodual and that every distributive ordered set is also modular. Furthermore the notion of a lower homomorphism of an ordered set is introduced and there are shown relations between translations and lower homomorphisms of distributive and modular ordered sets, respectively.

Let $S=(S, \dot{=})$ be an ordered set (a po-set). If $A \leq S$, then we will denote $L(A)=\{x \in S ; x \leq a$, for all $a \in A\}$ and $u(A)=\{y \in S ; a \leqslant y$, for all $a \in A\}$.

For $A=\left\{\ldots, a_{i}, \ldots\right\} \subseteq S$ we will also write $L(A)=$ $=L\left(\ldots, a_{i}, \ldots\right), U(A)=U\left(\ldots, a_{i}, \ldots\right)$.

1. We say that a po-set $S$ is $a / d i s t r i b u t i v e ~ i f ~$
(I) $\quad \forall a, b, c \in S ; L(U(a, b), c)=L(U(L(a, c), L(b, c)))$, b/ modular if
(II) $\forall a, b, c \in S ; a \leq c \Rightarrow L(U(a, b), c)=L(U(a, L(b, c)))$.

Theorem 1. If $S=(S, \leq, N, V)$ is a lattice, then $S$ is a/ a distributive po-set if and only if it is a distributive lattice,
b/ a modular po-set if and only if it is a modular lattice. Proof. Let $S$ be a lattice, $a, b \in S$. Then it is evident that $L(a, b)=L(a \wedge b), U(a, b)=U(a \vee b)$.
$a /$ Let $a, b, c \in S$. Then $L(U(a, b), c)=L(U(a \vee b), c)=$ $=L((a \vee b) \wedge c), L(U(L(a, c), L(b, c)))=L(U(L(a \wedge c)$, $L(b \wedge c)))=L((a \wedge c) \vee(b \wedge c))$.
Hence it is clear that (I) is satisfied if and only if $\forall a, b, c \in S ;(a \vee b) \wedge c=(a \wedge c) \vee(b \wedge c)$.
b/ If $a, b, c \in S$, then $L(U(a, b), c)=L((a \vee b) \wedge c)$, $L(U(a, L(b, c)))=L(U(a, b \wedge c))=L(a \vee(b \wedge c))$.
Therefore (II) is satisfied if and only if $\forall a, b, c \in S$; $a \leqslant c \Rightarrow(a \vee b) \wedge c=a \vee(b \wedge c)$.

Lemma 2. If $S$ is a distributive po-set, $B \subseteq S, x, y \in S$, then $U(L(B, U(x, y)))=U(L(U(L(B, x), L(B, y))))$.

Proof. a/ Let $u \in U(L(B, U(x, y)))$, i.e. $u \geq v$ for each $v$ such that $v \leq b$ for any $b \in B$ and $v \leq z$ for any $z \in U(x, y)$. Thus if $b \in B$, then $u \geq v$ for each $v \in L(b, U(x, y))=L(U(L(b, x), L(b, y)))$, hence $u \geq v$ for any $v$ such that $v \leqslant w$, where $w \geqslant z$ for each $z \in L(b, x, y)$. Since $b$ is an arbitrary element in $B$, it iṣ $u \geqslant v$ for any $v$ such that $v \leq s$ for each $s \in U(L(B, x), L(B, y))$, therefore $u \in U(L(U(L(B, x), L(B, y))))$, and so $U(L(B, U(x, y))) \subseteq U(L(U(L(B, x), L(B, y))))$.
b/ Let $u \in U(L(U(L(B, x), L(B, y))))=U(L(B, x), L(B, y))$, i.e. $u \geq v$ for each $v$ such that $v \leq x, y$ and $v \leq b$ for any $b \in B$. Thus if $b \in B$, then also $u \geqslant v$ for any $v$ such that $v \leq b$ and $v \leq w$ for each $w \in U(x, y)$. But this means that $u \geq v$ for each $v \in L(B, U(x, y))$, hence $u \in U(L(B, U(x, y)))$. Therefore $U(L(U(L(B, x), L(B, y)))) \subseteq U(L(B, U(x, y)))$.

Theorem 3. If $S$ is a distributive po-set, then it holds (III) $\quad \forall a, b, c \in S ; U(L(a, b), c)=U(L(U(a, c), U(b, c)))$.

Proof. By Lemma 2 and by the assumption that the condition (I) is satisfied in $S$, we obtain $U(L(U(a, c), U(b, c)))=$ $=U(L(U(L(U(a, c), b), L(U(a, c), c))))=U(L(U(a, c), b), L(c))=$ $=U(L(U(L(a, b), L(c, b))), L(c))=U(L(a, b), L(c, b), L(c))=$ $=U(L(a, b), L(c))=U(L(a, b), c)$.

Theorem 4. If $S$ is a modular po-set, then it holds (IV) $\quad \forall a, b, c \in S ; a \geq c \Rightarrow U(L(a, b), c)=U(L(a, U(b, c)))$.

Proof. If $a \geq c$, then by (II) it is $L(U(c, b), a)=$ $=L(U(c, L(b, a)))$. By this we obtain $U(L(U(c, b), a))=$ $=U(c, L(b, a))$, therefore (IV) is satisfied.

Lemma 5. If $S$ is a modular po-set, $B \subseteq S, x, y \in S$, $B \subseteq L(x)$, then it holds $U(L(x, U(B, y)))=U(B, L(x, y))$.

Proof. a/ Let $u \in U(L(x, U(B, y)))$. Then $u \geqslant v$ for any $v$ such that $v \leq x$ and $v \leq w$, where $w$ is an arbitrary element such that $w \geqslant y$ and $w \in U(B)$. Hence if $b$ is an arbitrary element in $B$, then $u \geqslant v$ for each $v \in L(x, U(b, y))$, thus $u \in U(L(x, U(b, y)))$. Since $b \leqslant x$, we obtain from (II) that $u \in U(L(U(b, L(x, y))))=U(b, L(x, y))$, therefore $u \in U(B, L(x, y))$, and this means that $U(L(x, U(B, y))) \subseteq$ $\subseteq . U(B, L(x, y))$.
b) Let $u \in U(B, L(x, y))$. Then it is evident that
$u \in U(b, L(x, y))$ for each $b \in B$. If $b \in B$, then by the assumption it is $b \leqslant x$ and hence $U(b, L(x, y))=$ $=U(L(U(b, L(x, y))))=U(L(U(b, y), x))$. Thus for any $b \in B$ it is $u \geq v$ for an arbitrary $v$ such that $v \leq x$ and $v \leq w$ for any $w$ with the property $w \geq b, w \geq y$. Therefore $u \geqslant v$ for any $v$ such that $v \leq x$ and $v \leq w$ for each $w \in U(B, y)$, thus $u \in U(L(x, U(B, y))$. But this means that $U(B, L(x, y)) \leqslant U(L(x, U(B, y))$.

Theorem 6. If $S$ a modular po-set, then
(V) $\quad \forall a, b, c \in S ; U(L(a, U(L(a, b), c)))=U(L(a, b), L(a, c))$.

Proof. By Lemma 5 we obtain $U(L(a, b), L(a, c))=U(L(U(L(a, b)$, $L(a, c))))=U(L(U(L(a, b), c), a))=U(L(a, U(L(a, b), c)))$.

Theorem 7. If $S$ is a modular po-set, then (VI) $\forall a, b, c \in S ; L(U(a, L(U(a, b), c)))=L(U(a, b) ; U(a, c))$.

Proof. The assertion follows from Theorem 4 in the way dual to the proof of Theorem 6.

Theorem 8. Any distributive po-set is modular.
Proof. Let $S$ be a distributive po-set, $a, b, c \in S, a \leq c$. Then $L(U(a, b), c)=L(U(L(a, c), L(b, c)))=L(U(L(a)$, $L(b, c)))=L(U(a, L(b, c)))$, therefore $S$ is modular.

Theorem. 9. a/ If $S$ is a modular po-set, then for any $a, b, c \in S$ such that $a \leq b, U(a, c)=U(b, c)$ and $L(a, c)=$ $=L(b, c)$ imply $a=b$.
b/ If $S$ is a distributive po-set, then for any $a, b, c \in S$, $U(a, c)=U(b, c)$ and $L(a, c)=L(b, c)$ imply $a=b$.

Proof. $a /$ Let $S$ be modular po-set, $a, b, c \in S, a \leqslant b$ and let $U(a, c)=U(b, c), L(a, c)=L(b, c)$. Then $L(b)=$ $=L(b, U(b, c))=L(b, U(a, c))=L(U(a, L(b, c)))=L(U(a, L(a, c)))=$ $=L(U(a))=L(a)$, hence $a=b$.
b/ Let $S$ be a distributive po-set, $a, b, c \in S$. If $U(a, c)=$ $=U(b, c), L(a, c)=L(b, c) ;$ then $L(a)=L(a, U(a, c))=$
$=L(a, U(b, c))=L(U(L(a, b), L(a, c)))=L(U(L(a, b), L(b, c)))=$ $=L(U(a, c), b)=L(U(b, c), b)=L(b)$, therefore $a=b$.

Example 1. Let us consider the po-set $S=\{0, a, b, c, d, 1\}$ which is determined by the following diagram (Fig. 1):


## Fig. 1

We shall show that $S$ is a distributive po-set. First, let $x, y \in S$. Then $L(U(x, y), 0)=\{0\}=L(U(L(x, 0), L(y, 0)))$, $L(U(0, x), y)=L(x, y)=L(U(L(0, y), L(x, y))) \cdot L(U(x, y), 1)=$ $=L(U(x, y))=L(U(L(x, 1), L(y, 1))), L(U(1, x), y)=L(y)=$ $=L(U(L(1, y), L(x, y))), L(U(x, x), y)=L(x, y)=L(U(L(x, y)$, $L(x, y))), L(U(x, y), x)=L(x)=L(U(L(x, x), L(y, x)))$. Now we shall verify that (I) is satisfied for the remaining triples of elements in $S$, too: $L(U(a, b), c)=L(U(a, b), d)=\{a, b, o\}=$ $=L(U(L(a, c), L(b, c)))=L(U(L(a, d), L(b, d))), L(U(a, c), b)=$ $=L(U(a, d), b)=\{0, b\}=L(U(L(a, b), L(c, b)))=L(U(L(a, b)$, $L(d, b))), L(U(a, c), d)=L(U(a, d), c)=L(U(b, c), d)=L(U(b, d)$, $c)=\{a, b, 0\}=L(U(L(a, d), L(c, d)))=L(U(L(a, c), L(d, c)))=$ $=L(U(L(b, d), L(c, d)))=L(U(L(b, c), L(d, c))), L(U(b, c), a)=$ $=L(U(b, d), a)=\{0, a\}=L(U(L(b, a), L(c, a)))=L(U(L(b, a)$, $L(d, a))), L(U(c, d), a)=\{0, a\}=L(U(L(c, a), L(d, a)))$, $L(U(c, d), b)=\{0, b\}=L(U(L(c, b), L(d, b)))$. Therefore $S$ is a distributive po-set which is not a lattıce.

Example 2. Let $T=\{0, a, b, c, d, e, 1\}$ be the po-set which is determined by the following diagram (Fig. 2):

Fig. 2


Let $x, y, z \in T$. Then $0 \leqslant y$ and $L(U(0, x), y)=L(x, y)=$
$=L(U(0, L(x, y))), x \leq 1$ and $L(U(x, y), 1)=L(U(x, y))=$
$=L(U(x, L(y, 1)))$. If $x \leq y \leq z$, then $L(U(x, y), z)=L(y)=$
$=L(U(x, L(y, z)))$, if $y \leq x \leq z$, then $L(U(x, y), z)=L(x)=$
$=L(U(x, L(y, z)))$, if $x \leqslant z, x \leqslant y$, then $L(U(x, y), z)=$
$=L(y, z)=L(U(x, L(y, z)))$. Finally, it is $L(U(a, b), c)=$
$=L(U(a, b), d)=L(U(a, b), e)=\{0, a, b\}=L(U(a, L(b, c)))=$
$=L(U(a, L(b, d)))=L(U(a, L(b, e)))$. This means that $T$ is $a$ modular po-set which is not a lattice. Moreover $T$ is not a distributive po-set because $L(U(c, d), e)=\{0, a, b, e\}$, but $L(U(L(c, e), L(d, e)))=\{0, a, b\}$.
2. In [1], there is introduced the notion of a translation on a po-set. In this paper we shall use the dual notation.

If $S$ is a po-set, then a mapping $\varphi: S \rightarrow S$ is called a translation on $S$ if $\forall a, b \in S ; \varphi(U(a, b))=U(\varphi(a), b)$. It holds that every translation is a closure operated on $S$.

We shall also introduce the following notion: If $S$ is a po-set, then a mapping $\varphi: S \rightarrow S$ is called a lower homomorphism of the po-set $S$ if $\forall a, b \in S ; U(\varphi(L(a, b)))=$ $=U(L(\varphi(a), \varphi(b))) . G . S z a ́ s z$ proved (in [2]) that a lattice is distributive if and only if each its translation is a meet
homomorphism, and that a lattice is modular if and only if for each its translation $\varphi$ and for each its elements $a, x$, where $\varphi(a)=a$, it is $\varphi(a \wedge x)=\varphi(a) \wedge \varphi(x)$. In this paper we shall prove that any distributive or modular po-set, respectively, satisfies a similar condition in connection to lower homomorphisms.

Theorem 10. If $S$ is a lattice, $\varphi: S \rightarrow S$ a mapping, then $\varphi$ is a meet homomorphism if and only if it is a lower homomorphism.

Proof. a/ Let $\forall a, b \in S ; \varphi(a \wedge b)=\varphi(a) \wedge \varphi(b)$. Then $\varphi(L(a \wedge b)) \leqslant L(\varphi(a \wedge b))$, hence $U(\varphi(L(a, b)))=$ $=U(\varphi(L(a \wedge b))) \supseteq u(L(\varphi(a \wedge b)))=U(\varphi(a \wedge b))=$ $=U(\varphi(a) \wedge \varphi(b))=U(L(\varphi(a), \varphi(b)))$, therefore $U(L(\varphi(a)$, $\varphi(b)) \subseteq U(\varphi(L(a, b)))$. Conversely, let $x \in U(\varphi(L(a, b)))=$ $u(\varphi(L(a \wedge b)))$, i.e. $x \geq \varphi(y)$ for each $y \leq a \wedge b$. Let $z \in L(\varphi(a), \varphi(b))=L(\varphi(a) \wedge \varphi(b))=L(\varphi(a \wedge b))$. Since $\varphi(a \wedge b) \leqslant x$, it is now $z \leqslant x$, hence $x \in U(L(\varphi(a), \varphi(b)))$, therefore $U(\varphi(L(a, b))) \leq U(L(\varphi(a), \varphi(b)))$.
b/ Let $\forall a, b \in S ; U(\varphi(L(a, b)))=U(L(\varphi(a), \varphi(b)))$. First let us show that $\varphi$ is an isotonic mapping. Let us suppose that $a \leq b$. Then $U(\varphi(L(a)))=U(\varphi(L(a, b)))=U(L(\varphi(a)$, $\varphi(b)))=U(L(\varphi(a) \wedge \varphi(b)))=U(\varphi(a) \wedge \varphi(b))$, hence $\varphi(L(a)) \leqslant L(\varphi(a) \wedge \varphi(b))$, thus $\varphi(a) \in L(\varphi(a) \wedge \varphi(b))$, and this means that $\varphi(a) \leq \varphi(b)$.

Now we shall show that $\varphi$ is a meet homomorphism. It is $U(\varphi(a \wedge b)) \supseteq U(\varphi(L(a, b)))=U(L(\varphi(a), \varphi(b)))=U(L(\varphi(a) \wedge$ $\wedge \varphi(b))=U(\varphi(a) \wedge \varphi(b))$, hence $\varphi(a \wedge \dot{\prime}) \leqslant \varphi(a) \wedge \varphi(b)$.

Conversely, let $y \in U(\varphi(a \wedge b))$. Since $\varphi$ is an isotonic mapping, it is $y \geqslant \varphi(x)$ for each $x \in L(a, b)$, hence $y \in U(\varphi(L(a, b)))$, thus $U(\varphi(a \wedge b)) \leqq U(\varphi(L(a, b)))=$ $=U(\varphi(a) \wedge \varphi(b))$, and so $\varphi(a \wedge b) \geqslant \varphi(a) \wedge \varphi(b)$.

Lemma 11. If $\varphi$ is a translation on a po-set $S, x \in S$, $\emptyset \neq B \subseteq S$, then $\varphi(U(x, B))=U(x, \varphi(B))$.

Proof. a/ Let $z \in \varphi(U(x, B))$, ie. $z=\varphi\left(z_{1}\right)$, where $z_{1} \geqslant x$ and $z_{1} \geqslant b$ for each $b \in B$. Let $b \in B$. Then $z_{1} \in U(x, b)$ and hence $z \in \varphi(U(x, b))=U(x, \varphi(b))$. But this means that $z \in U(x, \varphi(B))$, thus $\varphi(U(x, B)) \leqslant U(x, \varphi(B))$. b/ Let $w \in U(x, \varphi(B))$, i.e. $w \geq x$ and $w \geqslant \varphi(b)$ for each $b \in B$. Let $b \in B$. Then $w \in U(x, \varphi(b))=\varphi(U(x, b))$, hence $w=\varphi\left(w_{1}\right)$, where $w_{1} \geq x, w_{1} \geq b$. Thus $w_{1} \in U(x, B)$, i.e. $w \in \varphi(U(x, B))$, and therefore $U(x, \varphi(B)) \leqslant \varphi(U(x, B))$.

Lemma 12. If $\varphi$ is a translation on a distributive posset $S$, $x, y \in S, \varnothing \neq B \subseteq S$, then $U(L(x, y), B)=U(L(U(x, B), U(y, B)))$.

Proof. a/ Let $z \in U(L(x, y), B)$. Hence $z \in U(L(x, y))$ and $z \geq b$ for each $b \in B$. Let $b \in B$. Then $z \in U(L(x, y), b)=$ $=U(L(U(x, b) \cdot U(y, b)))$, thus $z \geq w$ for each $w \in L(U(x, b)$, $U(y, b))$. Therefore $z \geq w$ for any $w \leq a$, where $a \in U(x, b)$, $a \in U(y, b)$. This means that $z \geq w$ for each $w \in L(U(x, B)$, $U(y, B))$, hence $z \in U(L(U(x, B), U(y, B)))$. Therefore $u(L(x, y), B) \subseteq u(L(U(x, B), U(y, B)))$.
b/ If $b \in B$, then $U(x, b) \supseteq U(x, B), U(y, b) \geq U(y, B)$, thus $U(L(U(x, b), U(y, b))) \geq U(L(U(x, B), U(y, B)))$. Let $z \in U(L(U(x, B), U(y, B))), i . e .$, by the latter, $z \in U(L(U(x, b)$, $U(y, b)))=U(L(x, y), b)$ for each $b \in B$. Therefore $z \in U(L(x, y), B)$, and this means that $U(L(U(x, B), U(y, B))) \subseteq$ $\leq U(L(x, y), B)$.

Theorem 13. If $S$ is a distributive l-directed posset, then any translation on $S$ is a lower homomorphism of $S$.

Proof. Let $\varphi$ be a translation on $s, a, b \in S$. Then by Lemmas 11 and 12 it is $U(L(\varphi(a), \varphi(b)))=U(L(\varphi(U(a))$, $\varphi(U(b))))=U(L(\varphi(U(a, L(a, b))), \varphi(U(b, L(a, b)))))=$ $=U(L(U(a, \varphi(L(a, b))), U(b, \varphi(L(a, b)))))=U(L(a, b)$, $\varphi(L(a, b)))=U(\varphi(L(a, b)))$.
Lemma 14. If $S$ is a modular posset, $x, y \in S, B \leq S$, then $U(L(U(x, B), U(y, B)))=U(L(U(B, L(U(B, x), y))))$.

Proof. a/ Let $z \in U(L(U(x, B), U(y, B)))$. Then $z \in U(L(U(x, b)$, $U(y, b)))$ for each $b \in B$. Thus if $b \in B$, then $z=v$ for any $v$ such that $v \leq s$ for each $s \in U(b, w)$, where $w$ is an arbitrary element in $L(y, a)$, for each $a \in U(b, x)$. Since these relations are satisfied for an arbitrary element $b \in B$, it is $w \in L(a, y)$ for each $a \in U(B, x)$; thus $w \in L(U(B, x), y)$. Hence $s \in U(L(U(B, x), y), b)$ for each $b \in B$, therefore $s \in U(L(U(B, x), y), B)$. This means that $v \in L(U(B, L(U(B, x), y)))$. and so $z \in U(L(U(B, L(U(B, x), y)))$ ). Therefore $U(L(U(x, B)$, $U(y, B))) \subseteq U(L(U(B, L(U(B, x), y))))$.
b/ If $b \in B$, then $U(L(U(B, L(U(B, x), y))) \leq U(L(U(b, L(U(b, x)$, $y))$ ) and $L(U(B, x), y) \geq L(U(b, x), y)$, thus it is $U(L(U(B, L(U(B, x, y)))) \subseteq U(L(U(0, L(U(b, x), y))))$. Let now $z \in U(L(U(B, L(B, x), y)))), b \in B$. Then $z \in U(L(U(b, L(U(b, x)$, $y)))=U(L(U(x, b), U(y, b))), \quad$..e. $z \geq v$ for any $v \leq w$, where $w$ is an arbitrary elemett in $U(x, y, b)$. Since $b$ is an arbitrary element in $B, z \geq v$ for each $v \in L(U(x, B)$, $U(y, B))$, and so $z \in U(L(U(x, E), U(y, B)))$. But this means that $U(L(U(B, L(U(B, x), y)))) \subseteq U(L(U(\therefore, B), U(y, B)))$.

Theorem 15. If $S$ is a moduler po-set, $\varphi$ a translation on $S$, then for each $a \in S$ such that $\varphi(a)=a$ and for each $b \in S$ it is $U(\varphi(L(b, a))=U(L(\varphi(b): \varphi(a)))$.

Proof. By Lemma 14, we obtain $f$ om the assumption that
$U(L(\varphi(b), \varphi(a)))=U(L(U(b, \varphi(-(b, a))), U(a, \varphi(L(b, a)))=$
$=U(L(U(\varphi(L(b, a)), L(U(\varphi(L(b, \exists)), a), b)))=U(L(U(\varphi(L(b, a))$,
$L(U(\varphi(L(b, a)), \varphi(a)), b))))=J(L(U(\varphi(L(b, a)), L(b, a))))=$ $=U(L(U(\varphi(L(b, a))))=U(\varphi(L(b, a)))$.

## REFERENCES

[1] $R$ a ch ù $n$ e $k$, J.: Translations des ensembles ordonnés, Math.Slovaca 31 (1981), 337-340.
[2] $S$ z á s z, G.: Translationen der Verbände, Acta Univ. Comen., Math., 5 (1961), 449-453.

TRANSLACE DISTRIBUTIVNfCH A MODULARNfCH USPOŘÁDANÝCH MNOŽIN

Souhrn

```
    V článku jsou zavedeny pojmy distributivních a modulár-
ních uspořádaných množin, které jsou zobecněním odpovídajících
pojmů z teorie svazů a jsou dokázány jejich základní vlast-
nosti.
    V dalším jsou zavedeny dolní homomorfismy uspořádaných
množin, které zobecňují homomorfismy polosvazů. Je dokázáno,
že libovolná translace distributivní uspořádané množiriy je
dolním homomorfismem. Analogický výsledek plati také pro mo-
dulárni usrořádané množiny.
```


## ПЕРЕНОСЫ ДИСТРИБУТИВНЫХ И МОДУЛЯРНЫХ УПОРЯДОЧЕННЫХ МНОЩЕСТВ

## Peame


#### Abstract

В статье введены понятия дистрибутивных и модулярных упорядоченных множеств, которые являотся обобщением соответствуощих понятий из теории решеток и покаяаны их основные свойства.


В дальнейпем определявтся нижние гомоморфизмы упорядоченных множеств, которые обобщат гомоморфизмы полурешеток. Покаяано, что лобой перенос дистрибутивного упорядоченного множества является нищним гомоморфиямом. Аналогический реаультат имеет место тохе для модулярных упорядоченных множеств.

# Author's address: <br> Jana Larmerová př́rodovědecká fakulta Univerzity Palackého <br> Leninova 26 <br> 77146 Olomouc <br> ČSSR /Czechoslovakia/ 

Acta UPO, Fac.rer.nat., Vol.91, Mathematica XXVII,1988, 13-23.

